. B | B . . Bk | Btk .
ES YAy = s TRV 2
EShyAp = e % 0 FLNL R e ™ % 0
R 1 R4
] ] #3 ERE3 X10 #e  ARMERE1 BF1
R 21 | 16 |BEE ER4 EES B3 X2 A4 Hl T (L] 63 | 38 |iE2dmTie  mAtEEms a7 BEHE
3 Is DRFL1 E
xR 33 | 20 |EES EfR4 SMEIZEG %65*:12 #F1 12
B4 X1 k4 T3 ARTES e 52 | 32 |16 ARMELT B X15  #10 ETo
mE 18 | 14 |EE! EfR2 ##3 T4 @3 BRI HFT R0 BamE2 8L
A1 SRR at %22 X5 79 BT10 BF11 EREMED
_ R& 87 50 |[ivES AF-91 &2
=E 2 EE1 AX1 XL tERa yO-a33 4 BUE2
HBEEH 3| 2 |EES
NI 3 IT=EF%3 k16 F2 14 BE9 BEI5 %6 E
SHEE 94 | 51 [E#R3 £HFF15 BES FIREI4
KEREF 8 71 |&AES AR=Y1 BERIF9 EFERIRS
EBREE 1 1 |%&1
EREXF 9 5 (1 s REEX 2 BE L
ol 2 1 |#&%2 -~ os | 5o [51 E1 EEIS x320 e mT
- 9 1 |1 mamnd 15 Batss 853 214 BES £YET4
AF 1 1 (&1 AR 8 1 |2 T2 700741 #5E
HRI¥ 1 F 451 ES 9 8 |iZ1 X4 BE1 BI2 &t
BEEIL 2 HEAB BT X1 #2 HE1 ARRZE p-&(: 2l
BiiH 8 6 [BlE®mI1
B 2 1 |EE2 HERI
B 2 | 1 |EEHE f— 8 | o |ZLE X W oEw BERE
RIBER
B/ 3 2 |EES
¥: 3 1 |EE2 I WREH 12 | 3 |2 T4 T3 HBI3
R 5 | 2 |EE2 %2 w1 L% 6 6 [ BF2 sEE2 LA AR
N1 1 I1 BRsa 4 2 |1 BT 22
e 1 1 |EET LR 3 1 [#E3xb1 #E1 HE AR
I 2 2 |ER1 B I 1 pLN|
Big 3 EE3 th 1 oy
" 1 1 SRR 3 1 |i3F1 X1 B4t
K& 1 1% KIRER 13 | 2 |EE10 &3
x5 2 1 ([EE2 BIFEET} 16 | 4 |EE16
BERS 2 W1 BE1 EEER 10 | 2 |[EE10
BRER 1 EE1 BABEH 2 1 |EE2
5 5 N EY 4 EE
BAEF 7 1 |EE7
. B | Bifk . HEAREME | 1 EE1
NN AR = s 7
TEAT | | A v EEEH 1 EET
HERIL 5 3 |IREBERT4 AR R 2 2 |EmfE2
REFIEH | 3 | 2 |EES R 34 | 15 %o
KER iz 20 | 15 |=Eo s x2 @1 @ W I3 £EES PN EE ] 26 | 14 |226
RBR A 3L 12 | 5 |wsimees 15 temm Brox2 R 1 5 |11
RERIL 7 | 4 |#E &% B3 It HEER 4 4
HPEMTSERE | 2 2 |5 EBE2 BAERH 1 AT
HETEHE 1 EH WAEE 2 2
EREVER | 10 | 7 [EE10 KEREF 5 [ 2 w5
MBULBITER| 5 2 (EE4 ERI BREZE 5 2 |HE4 2BIRET
EfREE 2 1 |ERHE? i 1 1
HEBMAKEER | 1 1 |#HEE Fld:: 4 1 |HE4
EA =4 v 3 1 |33 2| 2 2
R ER 1 1 HH 1 EE1
S 72 A [ e EE s |1 [mn spEm
BAMELESH| 2 B2
XREFEI | B | Bifk i=%i7] 1 B
N PN A 3 1 [&3
BETER K28 2 2 [EE2 pidsik iy 1 w1
RrfEr K2 1 E T i 4 4 |5 EE4
RBLF 10 | 8 |BMH#AE3 X3 K2 A2
RIEHZF 28 | 16 |B#c#te7 %7 £FRIF5 ¥4 REUES
MIEHEKRE |6 |(HER #& 9 2 |¥5 BH#E1 THS
PN RE)IZF 22 | 11 [E11 X3 H£FBET BEANT
A&t 5 | 4 |#HR&%FE2 1L REER 3 | 2 [
EExHE 1 i1
AEX 1 EET
= 3 EE3
T Dt 68 | 42




